Set 14-EVS-ClassV

QN Folder Topic Question Image (if | Correct
Name & with Answer | any) answer
Question options (Option-
Code A,B,C,D)
1 210 Sunita in Which of these B
. space suggests that
Science | ™ the earth
4062 rotates on its
axis?
Answer Options
Option A Option B Option C Option D
the the occurrence | the formation | the occurrence
occurrence of day and of eclipses. of cyclones.
of seasons. night.




QN Folder Topic Question | Image (if | Correct
Name & with any) answer
Question Answer (Option-
Code options AB,C,D)
2 210 Sunita in Which option B
Science space shows the
items
4065 correctly in
the
ascending
order of their
distances
from you:
Answer Options
Option A Option B Option C Option D
Stars, the A flying crow, | A flying Clouds, a
sun, clouds, clouds, the crow, the flying crow,
the moon, a | moon, the moon, the moon,
flying crow. sun, stars. clouds, stars, | stars, the sun

the sun.




QN Folder Topic Question | Image (if | Correct
Name & with any) answer
Question Answer (Option-
Code options AB,C,D)
3 210 Sunita in Why are C
. space nights cooler
Science ° thin days?
4080
Answer Options
Option A Option B Option C Option D
The Earthis | The place The place The place
further away | having night | having night | having night
from the Sun | is on a part is on a part is cooled by
during that tilted away not facing night winds.
time. from the Sun. | the Sun.




Q.N | Folder Topic Question with | Image (if any) Correct
Name & Answer answer
Question options (Option-
Code A,B,C,D)

4 210 Sunitain | The graph shows _ C
Science space the distance in Distance of Planets from the SUN

billions of
4085 kilometers NEPTUNE
between the sun
and 4 planets. | SATURN |
Which table | 8
shows the same | & URANUS
!nformatlon that LPITER
is shown on the
graph? ; : ; ; : >
1 2 3 4
Distance (billion Km)
Answer Options
Option A Option B Option C Option D
Pt | Dt plink Maet | D ik Pl Dtoce plln k) Mt Oitate o
i } iper } e 08 it f
Sl fi _ Sin o St {5 S !
s l U - U ; s !
Nepine 6 Neghre i Neptne 4 Neptne |
A : ( D




Q.N | Folder Topic Question with Image (if any) Correct
Name & Answer options answer
Question (Option-
Code AB,C,D)

5 210 Sunitain | Can a pair of B
Science space binoculars be used to

see the surface of the
4087 moon?
Answer Options
Option A Option B Option C Option D

No, it is not Yes, it is possible | No, only nearby Yes, it is possible
possible as the if the binoculars objects can be with any

image will be are powerful seen through binoculars, even
upside-down. enough. binoculars. cheap ones.




S.N Folder Topic Question with answer options Image(if any) Correct
Number & Answer
Question (Option-
A,B,C,D)
6 Sunita in A marble is shot into a circular groove
Space from point P as shown.lIt leaves the P 3
groove at Q. Which picture shows how
the marble will move when it leaves the / D
groove at Q?
Q
3_15
Science -
Answer Options
3492 Option A Option B Option C Option D
P P . o
Q Q . >
A B




S.N Folder Topic Question with answer Image(if any) Correct
Number & options Answer
Question (Option-
A,B,C,D)
7 Sunita in The moon takes
Space different shapes as
shown in the figure B
below.About how many
3_15 days pass between a
Science new moon and a full
?
3493 moon: NewMoon ~ Quarerboon — Hafloon~ Fullboon
Answer Options
Option A Option B Option C Option D
7 days 15 days 30 days 60 days




S.N | Folder Topic Question with answer Image(if any) Correct
Number & options Answer
Question (Option-

A,B,C,D)

8 Sunita in Space | Which hemisphere of the earth is

being seen in this picture?
B
3_16
Science
2359 Answer Options
Option A Option B Option C Option D
Western Northern Southern Eastern




S.N Folder Topic Question with answer options Image(if any) Correct
Number & Answer
Question (Option-
A,B,C,D)
9 Sunitain Among the following which is the largest?
Space A
3 .17
Science Answer Options
Option A Option B Option C Option D
1916
The sun The earth The moon Jupiter




S.N Folder Topic Question with answer options Image(if any) Correct
Number & Answer
Question (Option-
A,B,C,D)
10 Sunita in The four figures below show the 24-hour
Space period in January, April, July and October
in New Delhi. Which figure could B
represent January?
3 .17
Science
Answer Options
1942 Option A Option B Option C Option D




S.N | Folder Question with answer | Image (if any) Correct
Number Options answer
& (Option
Question A,B,C,D)
11 |4 23 Sunita in The items in the table below Group 1 GI’OUp 2 C
SCIENCE have been put into two = 1 |
8954 categories. Which set of _ Rivers | Bulbs
headings is MOST suitable Bananas Windows
o . |
for the two categories: | Seashells ‘ Table |
Clouds Road roller
Answer Options
Option A Option B Option C Option D
Group 1: Living; Group 1: Not Group 1: Not man- | Group 1: Not
used at home; made; transparent;
I('Sr'oup 2: Non- Group 2: Used at
iving home Group 2: Man- Group 2:
made Transparent




S.N | Folder Topic Question with answer Image (if any) Correct
Number Options answer
& (Option
Question A,B,C,D)
4 23 Mrs. Sharma gives a pack of 50 C

12 | SCIENCE Sunita in space | playing cards to 4 students, and
8976 challenges them to find out the

these shows the correct firs
step?

thickness of each card. Which of

t

Answer Options

Option A Option B

Option C

Option D

E




S.N | Folder Topic Question with answer Image (if any) Correct
Number & Options answer
Question (Option

AB,C,D)

13 3 .17 Sunita in Figure 1 shows the shadow of A
SCIENCE space a stick at a particular time of
1926 the day, and figure 2 shows

the shadow of the SAME stick

(at the same place) two hours Fgue Faute 2 et 2hus

later.

Which of these could have

been the time when the

shadow was as shown in

figure 17

Answer Options

Option A Option B Option C Option D
9:00 AM 11:00 AM 3:00 PM 5:00 PM




S.N | Folder Topic | Question with answer | Image (if any) Correct
Number Options answer
& (Option
Question AB,C,D)
14 1425 Sunitain | Study the table shown. Gas Inhaled air | Exhaled air | | ©
space
SCIENCE (For example, the first cell tells Oxygen 21% 15%
11644 us that in the air we breathe, — - -
about 21% or 21 parts out of Carbon dioxide 0.04% 4%
100 is oxygen).What can we
conclude from the table?
Answer Options
Option A Option B Option C Option D

We breathe in pure | The air we breathe in

oxygen and breathe | contains more carbon
out pure carbon dioxide than oxygen.

dioxide.

The air we breathe

out has more carbon

dioxide than the air

we breathe in.

The human body
produces oxygen
during the breathing

process.




S.N | Folder Topic Question with answer Image (if Correct
Number & Options any) answer
Question (Option

AB,C,D)
15 4 24 Sunita in space | A wind vane's tail is slightly heavier A
SCIENCE than its head. To make a wind vane,
10197 Vikas needs to balance the vane.
Which among the following represents
the BEST way to balance it?
Answer Options
Option A Option B Option C Option D
-{-\'-Ij T .J _‘_" @4':]_ .’ (_' "»'.'J 1 .J 5: "»'.'J 1 .J _"-:
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